Definition V

August 14, 2019

Yuji Masuda

(y_masuda0208@yahoo.co.jp)

o (£o0)-i—-1=0

®Iog(—%J: loge=1

@logl=log(-e?)=0

®log0= Iog(iiw} =logle*)=log(~¢) = Iog(%} =-1

@log(-1)=ir=-2
log(-1)= Iog(e‘z): —2loge=-2
®Dlog(-2) = log(+ ) = loge =1

circumference = -4

1+i= ei(-: (1+i)% =ej
i =log@+i)(-1+i=e')
@+i) =-1(- e =-1)

@+ i;r)% = e”(-: @+ ir)% = e')

iT=-2

. o1,
e=—ilve?=-1logi==7i=—
( 972

|
-

&

N

o

area=1

T

= 2(=4w)=-ZL
i=+2(=—j=£ .

+ oo 2

o1 a4 .
-2
(.- e?=ij? _—1) IZ
’

-7 —4 -1 2 5
-6 -3 0 3 6

o . . . . ‘
-5 -2 1 4 7



mailto:y_masuda0208@yahoo.co.jp

